

$$\frac{d_{12}b}{d_{12}b} = \frac{d_{10}b}{d_{10}b} = \frac{d_{10}b}{d_{10}b}$$



8.3. b. Som. $y_{\pm} a(0 \pm \sin \theta), \frac{dx}{d\theta} = a(1 \pm \cos \theta)$ $y_{\pm} a(1 \pm \cos \theta), \frac{dy}{d\theta} = -a \sin \theta$ The limit for half of the curve 0=0 and 0=5 ... The required length of the wood and = $2\int \sqrt{\left[\frac{dx}{dx}\right]^2 \left[\frac{dy}{dx}\right]^2} d\theta = 2 M n K_3$ = 2a j [(1+LOSO)2+ Sin20 do $= 2\pi \int_{0}^{\pi} \sqrt{(1+\cos^{2}0+2\cos^{2}0+\sin^{2}0)} d0$ = $2\sqrt{2}\pi \int_{0}^{\pi} \sqrt{(1+\cos^{2}0)} d0$ $= 2\sqrt{2} \cdot \sqrt{2} a \int_{0}^{\pi} \cos \frac{9}{2} do$ $= 8a \left[\frac{8in}{2} - \frac{9}{2} \right]_{0}^{\pi} = 8a \text{ Arg.}$ (0,2a) (30,0) (-39,4) A=-A Use De Moivre's Theorem to solve the equation $x^7 + x^4 + x^3 + 1 = 0$ Q.4a.

B.4.a. We have x7 + x4 + x3+1 =0 or x4(x3+1)+(x3+1)=0 or $(x^{4}+1)(x^{3}+1) = 0$ $x = (-1)^{1/3}$ or $(-1)^{1/4}$ Now, $\chi = (-1)^{1/3} \rightarrow \chi = (\cos \pi + i \sin \pi)^{1/3}$ $= [\cos(2m\pi + \pi) + i \sin(2m\pi + \pi)]$ $= \cos(2m\pi + \pi) + i \sin(2m\pi + \pi)$ $= \cos(2m + 1) + i \sin(2m\pi + 1)$

Butting m = 0, 1, 2 we get the roots on $\cos \pi/3 + 4^{\circ} \sin \pi/3 = \frac{1+4^{\circ} \sqrt{3}}{2},$ $\cos \pi + 4^{\circ} \sin \pi = -1$ INIA and $\cos \frac{5\pi}{3} + 1 \sin \frac{5\pi}{3} = \frac{1}{2} - \frac{1\sqrt{3}}{2}$ $\chi = (-1)^{1/4} \implies \chi = (\cos \pi + i \sin \pi)^{1/4}$ $= \left[\cos(2m\pi + \pi) + d\sin(2m\pi + \pi) \right]^{\frac{1}{4}}$ = Cos (2m+1) = +1 sin (2m+1) 74 - 2Mplay Butting $m \ge 0, 1, 2, 3$, we get the roots as $\cos \frac{\pi}{4} + i \sin \frac{\pi}{4} = \int_{2}^{1} (1+i)$ $\begin{array}{c} \log \frac{3\pi}{4} + i \sin \frac{3\pi}{4} = -\frac{1}{12} (1-i), \\ \log \frac{5\pi}{4} + i \sin \frac{5\pi}{4} = -\frac{1}{2} (1-i) \\ \log \frac{5\pi}{4} + i \sin \frac{5\pi}{4} = -\frac{1}{2} (1-i) \\ \log \frac{7\pi}{4} + i \sin \frac{7\pi}{4} = \frac{1}{12} (1-i) \\ \text{Hence all the roots of the fiven equivariant of the fiv$

b.Two circuits of impedance 2 + 4j ohms and 3 + 4j ohms are connected in parallel and A.C. voltage of 100 volts is applied across the parallel combination. Calculate the magnitude of the currents as well power factor for each circuit and magnitude of the total current for the parallel combination and its power factor.

$$\begin{array}{l} \underline{G.4.6}{b}. \ \underline{Sohn}, \\ \hline & 2_{1} = 2 + 4j, \ Z_{2} = 3 + 4j \\ \hline & i_{1} = \frac{V}{Z_{1}} = \frac{(50)}{2 + 4j} = \frac{50}{1 + 2j} = \frac{50(1 - 2j)}{(1 + 2j)(1 - 2j)} \\ = \frac{50(1 - 2j)}{1 + 4} = 10(1 - 2j) = 10 - 20j \quad \mathcal{MW} \\ \hline & \mathcal{H}_{1} = \sqrt{100} + 400 = 10J5 \quad \mathcal{Amp}, \\ \hline & \mathcal{H}_{1} = \sqrt{100} + 400 = 10J5 \quad \mathcal{Amp}, \\ \hline & \mathcal{H}_{1} = \sqrt{100} + 400 = 10J5 \quad \mathcal{Amp}, \\ \hline & \mathcal{H}_{1} = \sqrt{100} + 400 = 10J5 \quad \mathcal{Amp}, \\ \hline & \mathcal{H}_{1} = \sqrt{100} + 400 = 10J5 \quad \mathcal{Amp}, \\ \hline & \mathcal{H}_{2} = \sqrt{2} = \frac{2}{(20)} = \frac{1}{\sqrt{5}} = 0.4477 \quad \mathcal{MW} \\ \hline & \mathcal{H}_{2} = \sqrt{2} = \frac{100}{3 + 4j} = \frac{100(3 - 4j)}{(3 + 4j)(3 - 4j)} = \frac{100(3 - 4j)}{9 + 16} \quad \mathcal{H}_{1} = \sqrt{100} \\ \hline & \mathcal{H}_{2} = \sqrt{2} = \frac{100}{3 + 4j} = \frac{100(3 - 4j)}{(3 + 4j)(3 - 4j)} = \frac{100(3 - 4j)}{9 + 16} \quad \mathcal{H}_{1} = \sqrt{100} \\ \hline & \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} = \sqrt{2} = \frac{82}{3 + 4j} = \frac{3}{5} = 0.6 \quad \mathcal{H}_{1} \\ \hline & \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} = \frac{82}{5} = 20 \quad \mathcal{H}_{1} \\ \hline & \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} = \frac{82}{5} = 0.6 \quad \mathcal{H}_{1} \\ \hline & \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} = \frac{100}{5} = 22 - 36j \\ \hline & \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} = \sqrt{100} \\ \hline & \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} \\ \hline & \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} \\ \hline & \mathcal{H}_{2} \\ \hline & \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} \\ \hline & \mathcal{H}_{2} \\ \hline & \mathcal{H}_{2} = \sqrt{100} \quad \mathcal{H}_{2} \\ \hline & \mathcal{H}$$

Q.5a. A rigid body is rotating with angular velocity 2 radian/sec about an axis OR where R is 2i - 2j + k and O is the origin. Find the velocity of the point 3i + 2j - k on the body.

(21-2j+K) 1K S.a. Som Angular velocity = 2 rad/sec = 21-21 +K $\overline{W} = \frac{2(2i-2j+k)}{(4+4+1)}$ - 2 (21- 4+K) 7 = OP = 31+2j-K J- Jxx $= \frac{2}{3}(2i-2j+k) \times (3i+2j-k)$ = $\frac{2}{3} \begin{vmatrix} i \\ 2 \\ -2 \\ 3 \end{vmatrix} = \frac{2}{3} \begin{vmatrix} i \\ 2 \\ -2 \\ 3 \\ 2 \\ -1 \end{vmatrix} = \frac{2}{3} [(2-2)i - (-2-3)j + (4+6)k]$ = $\frac{2}{3} [(2-2)i - (-2-3)j + (4+6)k]$ = $\frac{2}{3} [(2-2)i - (-2-3)j + (4+6)k]$ = 10[j+2k] And

b. Forces 2i + 7j, 2i - 5j + 6k, -i + 2j - k act at a point P whose position vector is 4i - 3j - 2k. Find the vector moment of the resultant of three forces acting at P about the point Q, whose position vector is 6i + j - 3k.

QS.h' Som' det Fi= 2i+7j, F= 2i-sj+6k, F3 =-i+j-k, then the resultant forces F' to given by ビー デナチシナデュ ⇒ F'= 51'+ F2+F3 ⇒ F'= 31'+43+5K - 2MMKy det 7= 07 =) $\vec{r} = \beta v_{i} \text{ of } \beta - \beta v_{i} \text{ of } \beta - \beta M n kg$ =) $\vec{r} = (44^{i} - 3j - 24c) - (64^{i} + j - 3k)$ $\overrightarrow{M} = -2i - 4j + K$ $\overrightarrow{M} = -2i - 4j + K$ det \overrightarrow{M} be the moment of the resultant force Fabout Then, $\overrightarrow{M} = \overrightarrow{T} \times \overrightarrow{F} = \begin{vmatrix} i & j & K \\ -2 & -4 & l \\ 3 & 4 & 5 \end{vmatrix}$ SMAR = (24-1+13) +4K) And' AF2 AF2 a. Solve the differential equation $(\mathbf{D} - 1)^2 (\mathbf{D}^2 + 1)\mathbf{y} = \sin \frac{1}{2}\mathbf{x}$, $\mathbf{D} = \frac{d}{d\mathbf{x}}$ **Q.6**

b. Solve the equation
$$\frac{d^2y}{dx^2} + 3\frac{dy}{dx} + 2y = \sin 2x$$

 $366 \cdot b \cdot 50 \cdot \frac{d^2y}{dx^2} + 3\frac{d^2y}{dx} + 2y = 5 \cdot \frac{1}{2} + 30 \cdot 2x$
 $(b^2 + 30 + 2) \cdot y = 5 \cdot \frac{1}{2} + 30 \cdot 42 = 0$
 $M = -1, -2$
 $C \cdot F = C_1 \cdot \frac{1}{2} + C_2 \cdot \frac{$

(ii) Ex 1, page 652 of text book Engg Mathematic by N P Bali



 $\frac{Q.8.6}{Ne \text{ know that}} + \text{Here } -f(t) = \frac{\text{Cosat} - \text{Cosbt}}{t}$ we know that, $\lambda (\text{cosat} - \text{cosbt}) = \lambda \text{cosat} - \lambda \text{cosbt}$ $\int \frac{S}{2 + a^2} - \frac{S}{3 + b^2} = \int_{S}^{\infty} \left(\frac{S}{3 + a^2} - \frac{S}{3 + b^2}\right) ds - 2mm$ $= \left[\frac{1}{2}\log(\frac{s^{2}+a^{2}}{s^{2}+b^{2}}) - \frac{1}{2}\log(\frac{s^{2}+b^{2}}{s^{2}+b^{2}})\right]_{s}^{\infty}$ = $\frac{1}{2}\left[\log\frac{s^{2}+a^{2}}{s^{2}+b^{2}}\right]_{s}^{\infty} = \frac{1}{2}\left[\log\frac{1+\frac{a^{2}}{s^{2}}}{1+\frac{b^{2}}{s^{2}}}\right]_{s}^{\infty}$ $= \frac{1}{2} \log 1 - \frac{1}{2} \log \frac{1+a^2}{52}$ = $0 - \frac{1}{2} \log \frac{5^2 + a^2}{5^2 + b^2} (\log 1 - 0)$ $= \frac{1}{2} \log \frac{s^{2} + b^{2}}{s^{2} + b^{2}} \left(\log 1 = 0 \right)$ $= \frac{1}{2} \log \frac{s^{2} + b^{2}}{s^{2} + a^{2}} \quad \text{deg}.$

Q.9 a. Obtain the Laplace transform of t^2e^t .sin4t. (8) $\frac{Q_{1}q_{1}a}{\lambda(sin 4t)} = \frac{4}{s^{2}+16} \qquad \text{AMM}$ $\lambda(sin 4t) = \frac{4}{(s-1)^{2}+16} \qquad \text{AMM}$ $\lambda(e^{t}sin 4t) = \frac{4}{(s-1)^{2}+16} \qquad \text{AMM}$ $\lambda(te^{t}sin 4t) = -\frac{d}{ds}\left(\frac{4}{s^{2}+2s+17}\right) = \frac{4(2s-2)}{(s^{2}-2s+17)^{2}} \qquad \text{AMM}$ $\lambda \left(t^2 e^{t} \sin 4t \right) = -\frac{d}{ds} \left(\frac{4(2s-2)}{(s^2 - 2s + 17)^2} \right)$ $= -4 \frac{(s^2 - 2s + 17)^2 - (2s - 2)^2 (s^2 - 2s + 17)^{(2s - 2)}}{(s^2 - 2s + 17)^4}$ $= -4 \frac{(s^{2}-2s+17)^{2}-2(2s-2)^{2}}{(s^{2}-2s+17)^{3}}$ = $-4(2s^{2}-4s+34-8s^{2}+16s-8)$ $(s^{2}-2s+17)^{3}$ $-4(-6s^{2}+12s+26) = 8[ss^{2}-6s-13]$ Ang = $-(s^{2}-2s+17)^{3} = -(s^{2}-2s+17)^{3}$

Using the Laplace transforms, find the solution of the initial value problem b. $9y = 6 \cos 3t, y(0) = 2, y'(0) = 0$ $\Rightarrow (S^{2} + 9) = \frac{1}{S^{2} + 9} = \frac{1}{S^{2} + 9} = \frac{2S}{S^{2} + 9} + \frac{6S}{(S^{2} + 9^{2})} = \frac{2S}{S^{2} + 9^{2}} + \frac{6S}{(S^{2} + 9^{2})} = \frac{1}{S^{2} + 9} = \frac{1}{S^{2} + 9^{2}} + \frac{1}{(S^{2} + 9^{2})} = \frac{1}{S^{2} + 9} =$ $y = \lambda^{-1} \int \frac{2s}{c^2+9} \left(+ \lfloor -1 \rfloor \int \frac{6s}{(s^2+9)^2} \right) = 2c_{0}s_{3}s_{1} + \lfloor -1 \rfloor \frac{d}{ds} \left[\frac{-3}{(s^2+9)} \right]$ = 2 Cosst - t Sinst

TEXT BOOKS

1. Engineering Mathematics – Babu Ram, Pearson Education Limited, 2012

2. Applied Mathematics for Polytechnic, H.K.Dass, 10th Edition, 2012, CBS Publishers & Distributors, New Delhi